6 F 1RICRELUL [RDER(ICHITDERRIEZFEDER TS ]
TEROESDMFERMDORELZITV. fH7F48 1ANSHREZERELET.

FERARE(CDINT

EROCIBEECIHDEDEVNWZULETD,

1 EDOAE
MRV efE X EE. BHXDZ 1IRMEBEAL(CRDET,
2 ENE

=[]
cu

(BAR75E) (CEDE.

= SERT ER
BHX5 Bl& BHX5s Bl&

FEl (RIS IESF) 3,500/
F1& (FRRLIEN S50 4,700/

KR—=IL B (FE5EN 541065 T) 5,900 1BfR(CDE 970M
B (IO SHE58FET) 7,800/
BB (1BR(ICDE) 1,410
FHl (FRIKFN SIESF) 1,320/
F1& (FRRLIBN S50 1,770/

ZBIR—IL R (FE5EN 541065 T) 2,210 1BR(CDE 360/
B (RIS SHE58FET) 2,950/
BiBFE (1BFR(CDE) 520/
FHl (FRIKFN SIEF) 1,230/
F1& (FRRLIEN S50 1,650/

E—FEE wE (FESENSFE106ET) 2,050 1EFEIICDE 340H
B (FrioRNSFE5FET) 2,750/
BERsE (1FE(CDF) 480M
FHl (FRIKEN SIESF) 1,070M
F1& (FELIBN S50 1,440/

ETFB=E B (FE5N 541005 T) 1,800M| 1BEICDE 300/
B (FrioRNSFE5FET) 2,410/
BERsE (1F/E(CDF) 420M




= SERT SER
BHX5 Rl& BHX5 Bl&

FET (FRIORENSIESF) 1,040/
F1% (FERIBHSFE5E) 1,400/

E=FHE "M (FE5IENDSF%1085ET) 1,750 1BRECDE 290M
B (FaI9Fh 5F4&58F%E T) 2,340M
BiEesE (1IFf(CDE) 410M
FET (FRIORENSIESF) 470M
F1% (FERIBHSFE5E) 660/

HNEE—REE "M (FE5IENSF%1085ET) 760M| 1BSRE(CDOE 120M
BE (FrI9R5414&58FE T) 1,010
BiEsE (1IFf(CDE) 180M
a1 (FRIIKFN SIEF) 470/
F1& (FE1IBN SFE5H) 660/

MELE—SEE " (F#SENSF#%1085FET) 760M| 1BSRH(CDE 120M
BE (Fri9R 541&58FE T) 1,010
EBiEesE (1IFf(CDE) 180M
FEl (FHIMFHNSIESF) 1,390
F1& (FE1IBN SFE50) 1,860/

RIEHEZE R (FESIENSFE108FET) 2,320M| 1BfRICDO= 380/
BE (FrI9RN54-1#&58FE T) 3,100M
EiEsE (1IFR(CDE) 550
a1 (FRIIKFN SIEF) 710M
Fi& (FE1IBH SFE50) 940M

BT TAFE B (F#S5ENSF#%1085FET) 1,190 1BRICDE 190
BE (FrI9RN5F14&58FE T) 1,580M
BiEsE (1IFR(CDE) 280MH
FEl (FHIMFHNSIESF) 680
F1& (FE1IBH SFE50) 900/

BT TAFE B (F#SENSF%1085FET) 1,130 1BRICDE 180
BRI (FrIoSNSFE5IFET) 1,510/
BER (1BRI(CD) 260/




